d2|ALIE,DIN 71412 729|

=5 4Y/HIE o[0ix|

{0

02

=8, Bl A, EM

}

L

=l.
=.
E

=l oF = AH|QIBA AR 1.4305.

>3

M OlR2:
AEL As MEIF, 2[4 550 HV 1, oFed =2
AH|QIBA AR X}QdX OFR 2.

HH.
HEE aglA LIZEdE HF(HEY) LIAZE U&LICEH Rt 2Estof
St 28 2o MEELICH CtHEMo 2 AFSSH7|0d| MEtstod 7HE

gfuich
el AH8 ElE a2l LIE YL

=0
Z= Q0
FEHS Et EEIER EA AME D L1 L SwW
max.
K1132.1106100 A SZto| UE BuE AE M6X1 6 16 7
K1132.1108100 A gZto| e &MY AEl M8X1 6 16 9
K1132.1108125 A £70| = EMY AE M8X1,25 6 16 9
K1132.1110100 A Szto| UE s AE M10X1 6 16 11
K1132.1110150 A gZto| e &MY AEl M10X1,5 6 16 11
K1132.1118 A Szto| UE EME AEl R1/8 6 16 11
K1132.1114 A Szto| UE BME AEl R1/4 6 16 14
K1132.2106100 A gZto| e &MY AE|QlEA AE] M6X1 6 16 7
K1132.2108100 A Szto| UE BME AE|QlEA AE M8X1 6 16 9
K1132.2108125 A Szto| UE BME AE|QIB A AE M8X1,25 6 16 9
K1132.2110100 A SZto| e EMY AHQIYA AL M10X1 6 16 11

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



= Ol 5= = =
Jd2|AL|E, DIN71412 72| 358, EIR] A, ZIME
= 29
TEHS Et el EF Y 2 xHE D L1 L SW
max.
K1132.2110150 A 20| = MY AHQIEA AR M10X1,5 6 16 11
K1132.2118 A SZto| U= By AE|ClEA AE R1/8 6 16 11
K1132.2114 A fZto| U= MY AHQIE|A AE R1/4 6 16 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



